
Nombre: 　　　　　　　 Fecha: 　　　　　　 Puntuación: 　　　

Exponentes negativos de 10

2 × 10 =2 10 =(−3)

3 × 10 =2 10 =(−1)

10 =(−2) 8 × 10 =(−3)

769, 5 × 10 =(−3) 737, 5 ÷ 10 =2

462, 6 × 10 =(−4) 9 × 10 =0

4 × 10 = 4 × 10 =(−4)

10 =(−3) 10 =(−1)

278, 1 × 10 =(−4) 7 × 10 =

631, 5 ÷ 10 =(−2) 496 × 10 =(−3)

127, 8 × 10 =(−3) 368, 2 ÷ 10 =(−3)
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Nombre: 　　　　　　　 Fecha: 　　　　　　 Puntuación: 　　　

Exponentes negativos de 10

2 × 10 = 2002 10 = 0.001(−3)

3 × 10 = 3002 10 = 0.1(−1)

10 = 0.01(−2) 8 × 10 = 0.008(−3)

769, 5 × 10 = 0.7695(−3) 737, 5 ÷ 10 = 7.3752

462, 6 × 10 = 0.04626(−4) 9 × 10 = 90

4 × 10 = 40 4 × 10 = 0.0004(−4)

10 = 0.001(−3) 10 = 0.1(−1)

278, 1 × 10 = 0.02781(−4) 7 × 10 = 70

631, 5 ÷ 10 = 63150(−2) 496 × 10 = 0.496(−3)

127, 8 × 10 = 0.1278(−3) 368, 2 ÷ 10 = 368200(−3)
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